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Correct Marks : 4 Wrong Marks : 1

Using screw gauge of pitch 0.1 cm and
50 divisions on its circular scale, the
thickness of an object is measured. It

should correctly be recorded as :

2123 cm

2124 em

2.125 em

2121 em
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T TS WA FE O e H AR A
Wt €1 Afg B T #9901 em @ 3R
59 FUE Thel T 50 A1 2 d 9% 1 7121
%1 59 TFR § TE feran s

2.123 cm

2.124 cm

2125 em

2121 am

A charged particle carrying charge 1 pC is
moving with velocity (2; } 1_” 1 rﬁfl

ms~ L. If an external magnetic field of

57 +3} 6%) x 1072 T exists in the

region where the particle is moving then
< :
the force on the particle is F x 107" N.

ﬁ "
The vector F is:
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: j”‘j- A
40503639505, 0201 + 0.327 — 0.09

3.0i +32j — 09k

A

30i + 325 — 9%k

300i + 320j — 90k

TF AERE F0 5| W1 pC & 69

[2: F37 4 4?2) ms~l I TA WL AT

0 3% o8 T (5 4 3 6k) x 1070 T

F TEFHE 97 B A FU T H Frel ad
— 5 o
Fx 107N 1 F 99X ¢ :

0.30i + 0.32j — 0.09k

3.0i +32j — 09k

v v M
o NI P - L I 0l
et L . ~I%
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40503639508, 2001 + 320j — 90k

A block of mass m=1 kg slides with
velocity v=6 m/s on a frictionless
horizontal surface and collides with a
uniform vertical rod and sticks to it as
shown. The rod is pivoted about O and
swings as a result of the collision making
angle 0 before momentarily coming, to rest.
If the rod has mass M=2 kg, and length
I=1 m, the value of 0 is approximately :
(take g=10 m/s?)

55{!

63"
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40503639512, 69°

1 kg S=9HM = T Bl @IS v=6 m/s
¥ T Tv-fed 4fas Hae W =ed 3¢ U
THTHA FH W B 9 oHU & AN 59 W
farw g (A @) | BTOMSM T T
HR 59 2T F HR FHF Te1d g AN F
o %3 | T2et 0 F0 94 21 AT BE A
FAM 2 kg AR @EE 1 m & o1 0 F T4
A B : (g =10 m/s?)

49°

550

63°

69°
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Question Number : 4 Question Id : 40503610859 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Moment of inertia of a cylinder of mass M,
length L and radius R about an axis passing

through its centre and perpendicular to the

_ _ . - 1
axis of the cylinder is 1 = M F—.

, 4 12 )

If such a cylinder is to be made for a given
mass of a material, the ratio L/R for it to

have minimum possible [ is :

E

\2

L | b2

| ra

N o
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U FE (cylinder) % H 21 9 916 31T
= o 3 & oEad e A F o1l 9o &6l

rﬁaﬁﬁl—m[]{z 151%5@1'&1%@:[
: 4 1)"

LY

o1 E=99M, R $HHI 5= 3R L SH o=
€| Az U o3 g g=aaA & fardt el 9w
= FAE S Al 59 Sy o JAqH
M F f&3 L/ R =1 29M &

3
2

WM

WM

N
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A satellite is moving ina low nearly circular
orbit around the earth. Its radius is roughly
equal to that of the earth’s radius R,. By
firing rockets attached to it, its speed is
instantaneously increased in the direction

3
of its motion so that it become \/; Himes

larger. Due to this the farthest distance
from the centre of the earth that the satellite
reaches is R. Value of R is:

3R

e

2R

e

4R

e

2.5R
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s YU Y2Al & 91 AT e FAEE FH
TS T UF FH I W1 FEll
T oAt H e R, e €| e v
&0 T IUUE YL F Thel i ST SHHT

mﬁmﬂﬁlm%ﬂﬁﬁmﬁgww
< G €| TH FRO G F g O ST i
AMFAA IR A IACGEI RFAAT

3R

[

2R

e

4R

e

2.5R

Pressure inside two soap bubbles are 1.01
and 1.02 atmosphere, respectively. The
ratio of their volumes is :

08:1
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40503639523, +°1

qrEA & 9T | 341 31 Gerde & el 61 Sad
IgHvEH F =99 U FHI: 1.01 3R 1.02 T
SN 21 A T F A F1 ST 20 ;

08:1

A balloon filled with helium
(32°C and 1.7 atm.) bursts. Immediately

afterwards the expansion of helium can be

considered as :
www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice .
www.FirstRanker.com

Options :

40503639525, reversible adiabatic

reversible isothermal
irreversible adiabatic

irreversible isothermal

U [N H 9 g3 EfGEH H ATIHME
32°C, == 1.7 SgHUEE T % AUE 2

e FE =AW T2l & o T o i 918 5hH
W Fifera| 19 Fedl 31 98 S

Wfterdt 5 (reversible adiabatic) ¥ |

gfgadi  \HEATYA  (reversible
isothermal) 2

AT TH™ (irreversible adiabatic)
gl

Afauda  gHAAE (irreversible
isothermal) 2
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Question Number : 8 Question Id : 40503610863 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

e
f’f N\

i o)

Consider a gas of triatomic molecules. The
molecules are assumed to be triangular and
made of massless rigid rods whose vertices
are occupied by atoms. The internal energy

of a mole of the gas at temperature T is :

3RT
Cal -y
2

.L
IRT
2

—RT
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%
A S
T sel #1 U T it | F A
Frkoftg 11w % F IR =% 5 o HEa & R
SHE T S99 Wed S99 (rigid) TS 9
e E | 39 T F a9HE T W U A i
AT Sl 20

3RT

2T
>

RT

RT
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A uniform thin rope of length 12 m and
mass 6 kg hangs vertically from a rigid
supportand a block of mass 2 kg is attached
to its free end. A transverse short wave-
train of wavelength 6 cmis produced at the
lower end of the rope. What is the
wavelength of the wavetrain (in cm) when
it reaches the top of the rope ?

12

TH UFTAM qael T fads® @=mE 12 m
SR ZHM 6 kg & FEAE TeH T € AN
THF Tl fat W 2 kg 5=99M #1 U @Ue
T g E | THF =l FH T 6 cm TR
i U FTR FNE(A (wavetrain) SR Sl
T 9 I T F T BR W U a1 59
@Tﬁﬁﬁlﬁ@ﬁ*ﬁ({:mﬁ}fﬁm:
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40503639533, 6

12

Two isolated cr:-nducting spher 0s S] and 52

2 1
of radius qR and ER have 12 pC and

—3 pC charges, respectively, and are at a
large distance from each other. They are
now connected by a conducting wire. A
long time after this is done the charges on

S, and S, are respectively :
6 pCand 3 pC
FpCandb pC
4.5 wC on both

+45 pCand —45 pC

www.FirstRanker.com

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 10 Question Id : 40503610865 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
garershi 9 =9 gU @ g9 Tiel S, 941 S,
[} W2 2 1 -
IEREARE STk ERaﬁ'{ ER%,‘T{
12 uC 3R —3 pC AN E | F el T T H
I5d g0 W E | Afe 37 7l 1 UF A ar
T e e 9™ @ ST & @ 999 % UvEn
S, ¥ S, T AT F1 A FHEA: B

6 wC 33 uC
3 uC 3R 6 uC
45 pC =M e T

+4.5uC 3R —45uC
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In the circuit shown in the figure, the total
charge is 750 wC and the voltage across
capacitor C, is 20 V. Then the charge on
capacitor C, is :

Cy=15 uE 2

160 uC

450 uC

590 pC

650 pC
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= ¥ fo@@ ™ 9wy 5 Fa =9 71 A9F
750 uC ¥ 3R Hefed C, W deed 20 V F |
74 feafa § |1 (capacitor) C, W &E
g

C;=15puE

160 pC

450 pC

590 pC

650 pnC
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Model a torch battery of length [ to be
made up of a thin cylindrical bar of radius
‘a’ and a concentric thin cylindrical shell
of radius ‘b’ filled in between with an
electrolyte of resistivity p (see figure). If
the battery is connected to a resistance of
value R, the maximum Joule heating in R
will take place for :

R _P_ (E]
27l \a
R P n(h]

2l a

R=FE m(h]
arl a

17l a
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

€ H AT 3T dTell | s S U oSl H
50 YN =41 Wi % 50 o B # U
TR B qHHE ‘b 50 & UF FerEn
T (shell) F =T ¥ 3R 576 =4 & =M
p P IGEIEE I (resistivity) %Wgﬁﬂ:ﬂﬁzﬁl
WA gl (FFaTE) | AR IR AT FuF
EIGRE (resistance) H Sirel I g o iaa H

HAfereham e Bifen & fod

R:L(E]
27l \a

wl
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Question Number : 13 Question Id : 40503610868 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Magnitude of magnetic field (in SI units)
at the centre of a hexagonal shape coil of

side 10 cm, 50 turns and carrying current

I
I (Ampere) in units of 213 is :
am

A

g
25043

50043

HIHI SHR Tl Uh FUSel & THh G i
AE=E 10cm & AR THH 50 992 (turns) 2|
Ifs sHH [ U= 7 1 U o o1 = @
@ $HF H W UG B a9 e 4
e | I\I = e
(ST units &) =1 M, {”T{}I % gf7e # 2 ;
.

!
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40503639549. 53

me
25043

50043

An elliptical loop having resistance R, of
semi major axis a, and semi minor axis b is
placed in a magnetic field as shown in the
figure. If the loop is rotated about the
x-axis with angular frequency w, the

average power loss in the loop due to Joule

heating is :

Z hnoA B
);x b/ - =2
Yy y

"Tzazhzﬂzmz
R
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.’iTElth
40503639554, R

':TEEI"ZIZ'IEBZ-:L\»2
R

210

HAUSHR AFR F UF FUedl & A49HT
(semi major) FH H TR a 991 HAHeY
(semi minor) 3% I TS b T 9T THHI
A R 1 50 UF Frahid oA § fEegan
T T E | A x- A F AR AR T o 0
I F N W E A FUSed § I At g
gifen § s wfed +i Siga faq 2
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.':rame
40503639554. R

':rzazhzﬂzmz
R

A 750 Hz, 20 V (rms) source is connected
to a resistance of 100 (), an inductance of
0.1803 H and a capacitance of 10 pF all in
series. The ime in which the resistance
(heat capacity 2 J/°C) will get heated by
10°C. (assume no loss of heat to the

surroundings) is close to :
M8s
245 s
365s

418 s

www.FirstRanker.com
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Question Number : 15 Question Id : 40503610870 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

750 Hz W& 20 V (rms) & U& @G H1 400 §
€ gU 100 Q F WiaH, 01803 H F UH
i1 ud 10 pF 91 % U 991 9 S
T €| T2 A gU T IS o1 1 i -
ITH F FTAER0T 1 T2l 2l 8, 98 99 3,
T Y &1 AI9HEE 10°C F 9@ SITE, T
2 : (Wfoy 1 A eifda 2 J/°C ®)

3MEs
245 s
365 s

418 s

The magnetic field of a plane

electromagnetic wave is

B =3 x 1078 sin[200% (y + ct)]i T
wherec=3x108ms ~listhe speed of light.

The corresponding electric field is :

www.FirstRanker.com
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_} Fa
E=3x10"% sin [200= (y +ct)]k V/m
40503639561.

E =—9sin [2007 (y + ct)]k V/m
E =95sin[2007 (y + ct)] k V/m

E =—10"°sin [2007 (y + ct)] 12 V/m

T HAAcid aga-TH=®E T # FEE
&9 B =3x 108 sin[2007 (y + ct)] i T €

@ c=3 x10° ms | WEFTY FT 7T F HA B
59 707 1 faa & g0

_} A
E=3%10"8 sin [200 (y +ct)]k V/m

E =—9sin [200 (y + ct)]k V/m

E =9sin[2007 (y +ct)]k V/m
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E =—10"°sin [2007 (y +ct)] k V/m
40503639564.

In a Young's double slit experiment, light
of 500 nmis used to produce aninterference
pattern. When the distance between the
slits is 0.05 mm, the angular width
(in degree) of the fringes formed on the

distance screen is close to:
Q.57

1.

0.07°

017
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1 % UF T5-T5/ 7@ § 500 nm 1 TH
SEURAH Torg = B 1 4fs fafiEi & ==
= g4 0.05 mm 2 a1 F arell " & ==
i Fog < (feift °) fr= 5 4 T e
B

0.57°
1.
0.07°

017

When the wavelength of radiation falling
on a metal is changed from 500 nm to
200 nm, the maximum kinetic energy of the
photoelectrons becomes three times larger.

The work function of the metal is close to :
0.52 eV

0.61 eV

0.81 eV
www.FirstRanker.com
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40503639572, 102¢eV

T 91q W T2 9rel (9o & dinesd o=
mﬂnmﬁwmﬂnmﬁﬁlﬁ%?ﬁm
Foll oF T B et g1 fefa H oug
FHFe T H § foras feeaa 27

0.52 eV
0.61 eV
0.81 eV

1.02 eV

In a radioactive material, fraction of active
material remaining after time tis 9/ 16. The

fraction that was remaining after t/2 is:

www.FirstRanker.com
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W

40503639573.

e |

| e

oo |~

e ATl 951 H ¢ THE 9IS 791 g A1 AR
e e W Ui 9w w=d 1 9/16
YR T /2 THE H == 29N U AR
Teref T A T R BRM

3
5

W | L2

| e
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2,
40503639576, S

When a diode is forward biased, it has a
voltage drop of 0.5 V. The safe limit of
current through the diode is 10 mA. If a
battery of emf 1.5 V is used in the circuit,
the value of minimum resistance to be
connected in series with the diode so that
the current does not exceed the safe limit

is :
2000

100 ©2

300 Q2
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e UF SIS I FEE SEH I eE] S
o 3EH 0.5 V 1 faverm 2 g1 =EE #@
Tifga vaEd gu sHH | Afawan foga g &
TF 10mA 1 afe us 9ftag § 1.5 V &t &2
=1 T 2, 91 =M F WY fFad 99 19
o1 Wl e s fod afiy 3 e et
YR H =S TE A E ?

200 2

100 €2

30

300
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A cricket ball of mass 0.15 kg is thrown
vertically up by a bowling machine so that
it rises to a maximum height of 20 m after
leaving the machine. If the part pushing
the ball applies a constant force F on the
ball and moves horizontally a distance of
0.2 m while launching the ball, the value of
F (in N) is (g=10 ms ~2)

5t0 5.002

Question Number : 21 Question Id : 40503610876 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

0.15 kg Z=HH i T Thhe H1 78 T Fan
T o G Feater faen § el et &1 w9
Y fe % TvE 9% 20 m SfuEan S
T Wl g1 AfE " § g F gher T
AT 9 39 W UF foR 99 F o @ SR 98
g il Teherd 99 dfas fEen 5 0.2 m i =en
@A F & A (N H) 81 (g=10 ms2)
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Question Number : 22 Question Id : 40503610877 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A person of 80 kg mass is standing on the
rim of a circular platform of mass 200 kg
rotating about its axis at 5 revolutions per
minute (rpm). The person now starts
moving towards the centre of the platform.
What will be the rotational speed (in rpm)
of the platform when the person reaches

its centre

5t05.002

Question Number : 22 Question Id : 40503610877 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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200 kg F=AHM & U TR TI2HH 6 fHH
T 80 kg FFHM I UF G @D 1 Te
TIEHH HT A T 9fd e 5 9 & 1@
& | T AT 37 WIEE % e I SR Ferdl
& W= =i W % W UgEdl € al
o == B |

5t0 5.002

Question Number : 23 Question Id : 40503610878 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A bakelite beaker has volume capacity of

500 cc at 30°C. When it is partially filled

with V_ volume (at 30°C) of mercury, it is

found that the unfilled volume of the

beaker remains constant as temperature is

varied. If Y (beaker) = 6x10~%°C~1 and

Y(mercury) =15x10"4°C~1, where v is the

coefficient of volume expansion, then Vm

(in cc) is close to

www.FirstRanker.com
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Question Number : 23 Question Id : 40503610878 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

AFARZ § 99 TH dHT FT 30°C W
AT FHAM 500 cc &1 TF T9H 30°C WV,
AT F I W F A T I o g fE
AUHH 5o 92 5H SH o @rel 97
AT Tl Feedl g1 Afg S % A=a
AT TR T Y () = 6x10—6°C-1
AT IR FT ATITA HTCIT’-T JHT "UTIT?
T{HT{[\JZ 1.5x1074C- 1@ (cc JTJ vV, &
AA=rm

5t0 5.002

Question Number : 24 Question Id : 40503610879 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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An observer can see through a small hole
on the side of a jar (radius 15 cm) at a point
at height of 15 cm from the bottom (see
figure). The hole is at a height of 45 cm.
When the jar is filled with a liquid up to a
height of 30 cm the same observer can see
the edge at the bottom of the jar. If the
refractive index of the liquid is N /100,

where N is an integer, the value of N is

s
.
R"'\-\.
.~ T A
g
\\
Hk\\
. |45 cm

1

15 cm
il !

+— —

15ecm

510 5.002

Question Number : 24 Question Id : 40503610879 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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TF U (observer) T&h W (=1 15 cm)
T 95 9 g AR 91 UH fag 1 <@
Tl B WK 1 el 9o 9 9w S
%cm%ﬂmﬁ@ﬁﬁﬁﬁﬁﬁﬁﬁﬁcm
g1 (fem=d) | o4 9R 8 30 cm 39T %
U 29 Y1 W W @ Fe YerF e
TTE F FIR (edge) 3@ TFA ¢ | G 39 59
= AT N/100 31 (N quis) @ N =l

1 - S
s
\\\\ ]
\\“R
~._[45 cm
1
15cm
' v
-4—__ —
15 cm
510 5.002

Question Number : 25 Question Id : 40503610880 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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When a long glass capillary tube of radius
0.015 cm is dipped in a liquid, the liquid
rises to a height of 15 cm within it. If the
contact angle between the liquid and glass
to close to 0°, the surface tension of the

liquid, in milliNewton m 1 s

IF’{quuid}zgﬂﬂ kgm %, g=10 ms 2|

(Give answer in closest integer)

5t05.002

Question Number : 25 Question Id : 40503610880 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

F9 T T g5 U oIl ISR w1 =

0.015cm ¥ 59 54 UF 5 | A1 o & il

99 29 15 cm ST o =e Wa ¢ | s g

SR 1= & == 1 A9k B0 1T 0° 21

24 o1 9% 79, milliNewtonm ~! H, fa
A0 [Pz FT =900 kgnll 3, 55,:\1,0
ms~ 2] (3T fAFzgq qouis & T)

|

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.002

Chemistry
Section Id : 405036395
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036757
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503610881 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
It is true that :

A zero order reaction is a single step

reaction

A zero order reaction is a multistep

reachon
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A first order reaction is always a

40503639588, Single step reaction

A second order reaction is always a

multistep reaction

TEHA T -

s I Fife i AfATFD U U 18
At T

TF Y iz AED UE AT
St %)

T YA ST i ATUTHA God UF Thal
e i B

s fga ®ife #i AfafEa 929 =
TR AfafEa E

www.FirstRanker.com
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Of the species, NO, NO*, NO?* and NO ~,

the one with minimum bond strength is :

NO

NQO2+

NO

NO*

B9E NO, NO*, NO2* 991 NO~ ¥, 98
TF fauaFt Ay gme SAegad B, 2

NO

NQO2+

NO

NO*
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Correct Marks : 4 Wrong Marks : 1

Henry’s constant (in kbar) for four gases

o, B, vy and & in water at 298 K is given
below :

o« [ B | v |0
Ky | 50 | 2 [2x10-5] 05

(density of water=10% kg m > at 298 K)
This table implies that :

« has the highest snluhﬂjt}r in waler

ata giVEl"l pressure

solubility of vy at 308 K is lower than
at 298 K

The pressure of a 55.5 molal solution
of v is 1 bar

The pressure of a 55.5 molal solution
of & is 250 bar

www.FirstRanker.com
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298 K W & § 9 THi o, B, y 71 6 F foQ
& Ty (kbar ®) = fea & 2 -

Lol v |3
Ky | 50 | 2 [2x10-5] 05

(298 K W 9t &1 g9==10% kg m~3)
TR & e e 2 T

fadl gU 89 W o 1 IHT H Jesiern
T=AH 2

v &1 gEeiea 308 K &1 e |
208 K W f=a 21

v & UH 55.5 Hied faeEd &1 34 1
ALEI

& & UFH 55.5 Ao T9eaq &1 214 250
AT
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Let G, and CBaS{]4 be the conductances
(in S) measured for saturated aqueous
solutions of NaCl and BaSO),, respectively,

at a temperature T.

Which of the following is false ?

C.\JHCI > CBHE(]_; at a given T

Cpaso, (T2) > Cpaso,, (T4) for T, > T,

e b R el B ber T =Ty

NaCl

Ionic mobilities of ions from both

salts increase with T.

P 99 T W, NaCl 991 BaSO, = Hq« Seild
farerem o fore et 7 = (S H) Cyq
T Chos0, © O 771§ & 1 &1 TeAd 2

Cnac1>> Cpaso,y AT @I T W

Cpasoy (T2) > Cpaso, (Ty), T, > T =

www.FirstRanker.com
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140503639600, —Nac1 (T2) > Cnan (Ty) To> T, & ferg

AT T " ATEAl HT AE S

Tfaeiieard T % 919 =@dl &

An acidic buffer is obtained on mixing :

100 mL of 0.1 M HCI and 200 mL of
0.1 M Na(l

100 mL of 0.1 M HCI and 200 mL of
0.1 M CH,COONa

100 mL of 0.1 M CH,COOH and
200 mL of 0.1 M NaOH

100 mL of 0.1 M CH,COOH and
100 mL of 0.1 M NaOH

L s L | 2 B e 0 e i R D | A | B

www.FirstRanker.com
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40503639602.
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0.1 MHCO =1 100 mL 941 0.1 M NaCl
=l 200 mL

0.1 M HCI &1 100 mL @991 0.1 M
CH,COONa =1 200 mL

0.1 M CH;COOH =T 100 mL 1
0.1 M NaOH =T 200 mL

0.1 M CH,COOH =T 100 mL a=
0.1 M NaOH =1 100 mL

Tyndall effect is observed when :

The diameter of dispersed particles
is much smaller than the wavelength
of light used.

The diameter of dispersed particles
is much larger than the wavelength
of light used.

www.FirstRanker.com
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The diameter of dispersed particles
is similar to the wavelength of light

40503639608, used-

The refractive index of dispersed
phase is greater than that of the

diqpersir:-n medium.

foael q9E 94 Ay fan 5 & o4

W MRl 3 TS i et 3 aifE
Ul T = =5 B 8|

TG U & qOTes i gl H qiier
I 1 = Fgd T2 & |

T W9 1 AT e il &
= % & FHA 2 |

e HT=H 1 gt H T qre
= AT ATF o |
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The atomic number of the element

unnilennium is :

102

109
108

119

FAATEY T T T G
102
109

108

119
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the boiling point of HED is 373 K, the
boiling point of I-IES will be :

less than 300 K

more than 373 K

equal to 373 K

greater than 300 K but less than
373K

afz H,0 &1 Fa9Ai® 373 K & a1 HS
FaLI B ;

300 K 9 %4
373 K 9 <A
373 K & I

300 K H =411 T 373 K 4 &9
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Question Number : 34 Question Id : 40503610889 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a molecule of pyrophosphoric acid, the
number of P-OH, P=0 and P-O-P
bonds/ moiety(ies) respectively are :

4 2and 0

3, 3and 3

2 4and1

4 2and1

TERERIE T % A H P—-OH, P=0
AP — O — P 3=/ 3091 ( 37790 ) =61 H&=
FAT:  :

4,2 A0

3,3 dM3

5
e
A
-
=i
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40503639621, &2 T 1

Aqua regia is used for dissolving noble
metals (Au, Pt, etc.). The gas evolved in
this process is :

N,O4

NO

N,Os

N,

rae Grgst (Au, Pt, #005) &1 9eF & fag
FEl IS FTH H one Wd 21 TH YEH |
fere aTett 19 2

N,0O;
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40503639623, O
NEDS

N,

The CDITIP]EK that can show Dpt:ica_l ElCT.i‘ViT.}F
ig:

cis-[Fe(NH;),(CN),]
c:'s-[CrClz{Dx}ZF (ox=oxalate)
trans-[Fe(NH,),(CN),]

trans-[Cr(Cl,)(ox),]*

9% HHL S AV I TETEd FL T B,
2T

www.FirstRanker.com
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10503639626, | Fe(NH;),(CN),]

fAg-[CrCl,(0x),]*~ (ox=oxalate)
219 -[Fe(NH,),(CN),]

W‘[Cf{ﬂz}(ﬂx}z]a

The electronic spectrum of [Ti(H,0)4]**
shows a single broad peak with a
maximum at 20,300 cm~!. The crystal
field stabilization energy (CFSE) of the
complex ion, in k] mol 1 s :

(1 k] mol~1=83.7 cm~1)

145.5

83.7

2425

97

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Question Number : 37 Question Id : 40503610892 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
[TiH0)g * 1 eragiieh T1azH e forga
W (e W) Hefiia w2 fomes 3=
20,300 cm~1 W ¥ HFA F FE=a &=
T Fal (CFSE) (k] mol 1 ®) 2 -
(1kJmol " '=83.7 cm™ 1)

145.5
83.7

2425

97

Thermal power plants can lead to :
Acid rain
Eutrophication

Blue baby syndrome
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Ozone layer depletion

40503639637.
A faega goE 9 Te S AT ©
o7 9|
ERIbL)

=1 ==t fa=m

Which one of the following compounds
possesses the most acidic hydrogen ?

HyC—C=C-H

O

sl

H;C CHj
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NEC‘H C=N
%

40503639640. H H

et anfirent © 9 Top o e sretia 2rsesT
2?2
HyC-C=C-H
B
H,C CH,4
NEC><CEN
H H
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40503639641.

Glycerol is separated in soap industries

by :
Differential extraction
Fractional distillation
Distillation under reduced pressure

Steam distillation

| 3= | foats 7= H 9 f59s g ags
o ST 2 7

faset fmmdo
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40503639643. ¥

$H <9 9L HAHEA

ElE R IR ER|

Which of the following compounds
produces an optically inactive compound

on h}rdmgenatir:-n ?

CH
N
H CH,

Ho CHy

H CH,
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Question Number : 41 Question Id : 40503610896 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FTSAEF T 5§ § FA = AT g
ST AT S Ll & 2

H CH,

H CH;

The antifert ﬂit}-' dmg “MNowvestrol” can react

with :

Br,/water; ZnCl,/ HC1 ; NaOCl
www.FirstRanker.com
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B rater: ZnClL, /HCI: FeCl
40503639651 ) fvater 2/ 3
ZnCl,/HCI; FeCl,; Alcoholic HCN

Alcoholic HCN; NaOCl; ZnCl, /HC1

gfas T Ay raeE’ s afufra 3=
AFMedE

Br,/i; ZnCL,/HCl ; NaOCl
Br,/i; ZnCl,/HCl; FeCl,
ZnCl,/HCI; FeCly; TeehTeiferd HCN

Uehrtiersh HCN; NaOCl; ZnCL,/HCl
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An organic compound [A], molecular
formula C,;H,;0,; was hydrolyzed with
dilute sulphuric acid to give a carboxylic
acid [B] and an alcohol [(C]. Oxidation of
[C] with CrO,—-H,50, produced [B].
Which of the following structures are not
possible for [A] 7

CH,CH,CH,COOCH,CH,CH,CH,

CH,
|
CH; — CH, — CH— COOCH, — CH—CH,CH;

|
CH,

CHs,
I

CH; — CH, — CH—OCOCH,CH — CH,CH,
I

CHy

(CH,),— C—COOCH,C(CH,),
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TF FEfTE FfE [A] faasr sy
CyoHy0, & T ToHRF 37 & Tg o
AT F I UF FHaidicrs 377 [B] a1
TF UeE TR [C] 3 7 1 [C] F1 CrO, — H,S0,
% 1Y SR [B] 394 o | 9w
H Y [A] ¥ fod gva T &7

CH,CH,CH,COOCH,CH,CH,CH,

CHa
|
CH;3— CH,— CH — COOCH, — CH—CH,CH,

I
CH,

CH,
I
CH; — CH, — CH—OCOCH,CH — CH,CH,
I

CHy

(CH,),~ C~COOCH,C(CH,),
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The mechanism of SNI reaction is given

as :
I T e R
@ SIS =,
ReX-sRIX SR | X7, R-Y+X°
lon pair Solvent
Separated ion
pair

A student writes general characteristics

based on the given mechanism as :

(a) The reaction is favoured by weak

nucleophiles.
(b) 'K@ would be easily formed if the

substituents are bulky.

(c) The reaction is accompanied by
racemization.

(d)  The reaction is favoured by non-polar

solvents.

Which observations are correct 7
(a) and (b)
(b) and (d)
(a), (b) and (c)

(a) and (c)
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Question Number : 44 Question Id : 40503610899 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
S\ 1@t # feranfafy s wohm &t St 2

R—-X—>R X —R B R WERT
AT I fqdms g
Y 371E
7m

oI g3 Trartaty % auR = us faenet am=
- 59 Yeh e

(a) ATl gae AfvFEATeal & TRid e

s
m G_\. =y Y
ks ) )
Ix

z
(b) %ﬁ' AT I =7 S Ffg wiqeemd ==
|

(c) e et & @y et 21
(d) =l 1o faemae gr o Fe T

ZI
FA-H G T E?
(a) 941 (b)

(b) == (d)

(a), (b) T (c)

e
.
all
L]
]
Kl
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Question Number : 45 Question Id : 40503610900 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Kjeldahl method of Nitrogen

estimation fails for which of the following
reaction prnducts ?

i

(@) U Sn/HCI
CN

(b) )\ LiAlH,
) —
CH,CN

© = (i) SnCl, + HCI

= (i) H,O

NH
2~/ * NaNO,
~ HCI

(a) and (d)

(c) and (d)
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40503639664, () and ()

(a), (c) and (d)

fr=itaa T safufa sael & fow Teeem
e 1 Feee fafy saFa Bl 8 2

(a) Sn/HCI
_—
CN
J —
CH,CN
© & (i) SnCl, + HCI
NH,
=~ NaNO,
(d) | e
R HCl
(a) 941 (d)

www.FirstRanker.com
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40503639663, (©) T (d)

(b) 9= (c)

(a), (c) 741 (d)

The mole fraction of glucose (C;H,Oy) in
an aqueous binary solution is 0.1. The
mass percentage of water in it, to the
nearest integer, is

5t05.002

Question Number : 46 Question Id : 40503610901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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TF warg fganyry fgaa9 § qFi9
(CeH,,0,) 1 HIe 799 (Hre Teer) 0.1
T TEY UMl = g=gu wiqema (e
quiisR), H B |

5t05.002

Question Number : 47 Question Id : 40503610902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

An element with molar mass
27x%10~2 kg mol ! forms a cubic unit cell
with edge length 405 pm. If its density is
2.7 x10° kg m 3, the radius of the element
is approximately x10-12 m

(to the nearest integer).

5 to 5.002

Question Number : 47 Question Id : 40503610902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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UF dcd, fags1] HIEE wFHM
2.7x1D zkgmol 1%,4ﬂ5pm35\1'{?l'¢5ﬂ§
F1 Ueh o1 Ueheh Hel <A1l | 4T SHH (qcd
F1) T 2.7 x10% kg m~3 &, @ T HI
fr=a e 2t 1012 m
(Trepeay quis ) |

5t05.002

Question Number : 48 Question Id : 40503610903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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The photoelectric current from Na
(work function, w,=2.3 eV) is stopped by
the output voltage of the cell

Pt(s)[H,(g, 1 bar) HCl(aq., pH=1)|AgCl(s)|
Ag(s).

The pH of aq. HCI required to stop the
photoelectric current from K(w,=2.25eV),

all other conditions remaining the same,

is  x10"2 (to the nearest
integer).
Given,
2303 XL _ 906 v: E? " =022V
F AgCl|Ag|a
510 5.002

Question Number : 48 Question Id : 40503610903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
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Na (& %o wy=2.3 eV) ¥ Tisheit g
Pt(s)[H,(g, 1 aR)[HCl(aq., pH=1)|AgCl(s)
Ag(s) ¥ 39 dieesl 5 U o Wl &1 4fe
Tl wd =@t @, @ K(w,=2.25eV) ¥ T
fagm@ o =1 I & faw HC1 %71 pH 2@

%102 (fA=dq quri® H)

faan T 2,
2303 XL _ 0,06 v; E? =022V
F AgCl| Ag|a
5 t0 5.002

Question Number : 49 Question Id : 40503610904 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The volume strength of 8.9 M H,0,

solution calculated at 273 K and 1 atm is

_____ (R=0.0821 L atm

K~ 1 mol~1) (rounded off to the nearest

integer)
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Question Number : 49 Question Id : 40503610904 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

273 K @91 1 atm R 9fiahferd 8.9 M H,0,

faeaa #1 smaaq g@ged 2

(Freream quie H) |

(R=0.0821 L atm K~ ! mol 1)

5 to 5.002

Question Number : 50 Question Id : 40503610905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The total number of monohalogenated
organic products in the following

(including stereoisomers) reaction is

A (i) Ha/Ni/A
] ) X /A

(Simplest optically
active alkene)

www.FirstRanker.com
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Question Number : 50 Question Id : 40503610905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

=1 srfaferen ¥ uFedraHIga FEE Seael
(Tafem wemaafaal &1 faae) +1 Fa F&

=y

FLALL I
A (i) Hy/Ni/A
i (i) Xa/A
(U HTEAqH YA HUi
TeehlH)
5t0 5.002
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Question Number : 51 Question Id : 40503610906 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Consider the two sels :

A={m € R : both the roots of
x> —(m+1)x+m+4=0 are real} and

B=[-3,5).

Which of the following is not true ?
AUuB=R
AnB={-3}
A—B=(—=, =3)u (5, =)

B—A=(-3,5)
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=1 2 T=a W faEn Fite
A={meR: 22— (m+1)x+m+4=0F A
el Arfas € }, a9 B=[ -3, 5).

= & | 9 O 9 T8 &7
AUB=R
AnB={-3)

A—B=(-=, =3)u(5, =)

B—A=(-3,5)

If « and B are the roots of the equation

1

x>+ px+2=0and — and % are the roots
o

of the equation 2x2 + 2qx+1=0, then

(u’ 5}{[3 %}(u’ { %]{[ﬂ f S—J is equal

to:
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—(9 +p%)
40503639676, 4

—(9 +q%)

9 2

(9

4( q-)

Il o TG B, FHIEHW 22+ px+2=0 F qd

: 1 '
gaam — qm % T 222 + 2qx +1=0

F AL,
{.['r: i}[[_’a é}[.u’ | é]{[ﬂ | &] EELAEES
T

20—

—(9 +p’)
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40503639677. 4

The value of (2-'P,—3-?P, +4-°P,— ... up
to 51t term)+ (1! —2!+3!— .. up to 51th
term) is equal to:

1+ (52)!

1+ (51)!

1-51(51)!

(2-P,—3-2P, +4-3P,— ... 519 W& %)
+(11 =21 +3! — ... 519 9 @) T T a0&

_%
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Options :
1+ (52)!
40503639679.
1
1+(51)!
1-51(51)!

=2 2x-3 3x—4
IfFA=|2x-3 3x—4 4x—5| =
3x-5 5H5hx—-8 10x-17

A +Bx?2 +Cx+D, then B+ Cisequal to:
-3

-1
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Correct Marks : 4 Wrong Marks : 1

x—2 2x-3 Ix—4
qfe A= [2x-3 3x—4 4x—5| =
3x—5 b5x—8 10x-17

AP +Bx2 +Cx+D % A B+C s & :
5

-1

If the number of integral terms in the

: [ 1 b g
expansion of [_33 | 53) is exactly 33, then

the least value of n is:

128
248

256
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40503639690, 204

- 0. " o
afe (43 | 55) % vER § quiwE w6 =
BN HE 33 8, dln F1 g9 91 &

128
248
256

264

If the first term of an A P. is 3 and the sum
of ils first 25 terms is equal to the sum of its

next 15 terms, then the common difference
of this A.P.is:

1
6
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e | =

40503639692.

~1| =

01| =

Af2 UF THIT 49 1 UYH U2 3§ 941 SHF
T 25 eI 1 A1, SHF ST 15 Y81 F I
F TR T, 1 TH THI I 1 AEE T

1
6

e | =

~]| =

01| =
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If y2+lnge{cnszx}=y, x &[ % %W
J

then :
W O) +[y"(0)|=3
y'(0)=0
YO +[y"(0) =1

y(0)=2

g y2+lnge{cnszx}=y, X e [ % E] 2,

4l :
' (0)| +|y"(0)|=3
y"'(0)=0

' (O) +y"(0) =1
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40503639698, ¥ (=2

Let [t] denote the greatest integer = t. If
for some A £ R —{0, 1},

iﬂ:};i—:[; = L,thenL is equal to :
2
1
e
2
0

T [ He99 Ui < t & 29 &1 Afe
fF91 N € R-{0, 1} & fag
. 1 x+|x
A—x+ [x]

lim
r—0

—LEdALFAAE:
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40503639699, 2

b | =

The function, f(x)= (3x— ?}xzf S xeR,is

in:reasing for all x l}ring in:
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Question Number : 59 Question Id : 40503610914 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e f(x)=(Bx—7)a¥3, x e R, T FHIH A
o Toru, |l x Frefarfaa & 9 o 3 feeq 272

J |:r x |dx is equal to :

2
ual
2

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

40503639708, 27

I|¢r X |dx ?EH-TFI%:

m|-'4M

2n?
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The area (in sq. units) of the region

{(x,y}:ﬂ5y512+1,{]5y51+1,

=x=2}is:

P | =

55
23
16

79
16

79
24

= o
=
—
I~
Y
IA
)
]
+
=
=
I
=
I
-
+
=
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23
40503639712, 16

79
16

79
24

The solution curve of the differential

equation, (1 +e ¥)(1 4 yz}j—y = y2,
X

which passes through the point (0, 1), is :

" 1+e*
y =1 }ylnt_e[ > 1
yz +1 =y{lnge{1 lze } t 2}

£

2 1+e™*
=1 +yl
L) ynge{ > }
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-X
yz +1 =y{lage[1 }; } +2W
J

40503639718.

HAIHA THHI(1 + e (1 4 yz}% —

o1 2 aF, ol fafg (0, 1) W B W1 8, ®

2 : 1+e*
y —l*ylﬂt.e[ > }
y2+1=y{lnge{1}e}+2w
2
/
2 1+e™
=1+yl
L ynge{ 5 }

—X
yz 1 =y{lnge[1 }; } +2W
/
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Let P be a point on the parabola, 1>=12x
and N be the foot of the perpendicular
drawn from P on the axis of the parabola.
A line is now drawn through the mid-point
M of PN, parallel to its axis which meets
the parabola at Q. If the y-intercept of the

uImNQLq%,tmn:

' 1
MQ = —
Q 3

MQ = —

[
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A P W@, 2 =12x W TF fag & 3R
P ¥ TEed & A% W STel T o= & I8 N
€1 3@ PN % 9eg-fag M § U Wt @
Waed % 34 o G il ST g Sl waed
#1 fag Q W faedt g1 afz T NQ #

y—ﬂﬁiﬁ?:’%%,ﬁ'l:

' 1
MQ = =
Q 3

MQ = —

[

A hyperbola having the transverse axis of
length-ﬁ has the same foci as that of the
ellipse 3x%+4y>=12, then this hyperbola
does not pass through which of the

following points ?
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'[L o)
40503639723. ‘E

' 1

[ [ v

-7

3 1

2’ 2

T AfqREerd T 9% (transverse) A4
F T 2§ AR 3HE MR, Seg
322 +4y2 =12 % ATHFEH & T F1
Afaraea fr= 4 4 fm fas 4 S T8
e/

(&

%
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§.05

40503639725.

The foot of the perpendicular drawn from
the point (4, 2, 3) to the line joining the
points (1, —2, 3) and (1, 1, 0) lies on the
plane :

x+2y—z=1

x—2y+z=1

x—y—2z=1

2;r+y—z=1
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fargadl (1, —2,3) 3R (1, 1,0) ¥ FF I
e I TE W 65 (4, 2, 3) | =/ T =
1 92 599 99da W e, 98 2 ;
x+2y—z=1
x—2y+z=1

x—y—22=1

x+y—z=1

?=(;’ Jr] c1l27 + &) and
. [:2:' ] }m(? f k]
Iy ]

intersect whenl=1 and m=2

[ | —

intersect whenl=2 and m =

intersect for all values of [ and m
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do not intersect for any values of

40503639734, | andm
T T
7 =li=75) +12% + &) v

FRAE AT [=1 M m=2

FEd & =2 991 m =

13| =

1 9 m F 9+ °E % fore Fred

I 991 m & Todr «f 96 % fou =&
el
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For the frequency distribution :

Variate (x) : Xy Xy Xy Xy
Frequency (f): h  f  fi-Ji5
where 0 < F R T M I S 115=1{] and

15
Z:fi- >(, the standard deviation cannot
1=1

be:
6
4
2
1
ARFRAT A
?ﬂ' (x) : Xy Xy Xz Xy

HALERAT (f) h Lk fh-fis

qﬁﬂ{xlﬂxzﬂxaﬁ...ﬁxﬁ=lﬂﬂﬂ1

15
Y f;>0 %, & AFs fa=ed, f7 § 4

1=1

HH-T7 T 21 Fehell 7
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Options :
40503639735. 6
4
2
1

A die is thrown two times and the sum of
the scores appearing on the die is observed
to be a multiple of 4. Then the conditional
probability that the score 4 has appeared

atleast once is :

2

WO | =

o0 | =

e | =
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Question Number : 68 Question Id : 40503610923 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T qTET 2 AR R ST @ a9 9 W S
T 1 AR 4 FUF O | A HEA
4 % FH 9 FH UF 91 A F FAfa=s A
T

oo | = WO | 03 | i

e | =

14 g 116
2 [sf_n 12 + sin™'= + gin 1_—1 is
L 5 13 65 )

equal lo:
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40503639743, ¢

2 — [sin™12 + sin"!> + sin™] I—ﬂ
5 13 65 )
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i1
40503639746, 2

The pmpnsitinn -p—z»"-f P ~ ~q) is
equiva_lent o :

q
P v (~q)
~p) v g

(~p) ~ q

W= (proposition) p—~(p A ~q) 7 H
fFgraa s ?

q

(~p) v (~q)
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40503639749, U P) ¥ 4

(~p) A g

(12 (e o
1 1)

1) \ 1
then the greatest common divisor of the

least values of m and n is

5t05.002

Question Number : 71 Question Id : 40503610926 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

?ﬁ(l ! qflzz [1 } ‘ITJ: 1 B, (m, ne N)
1—i) i—1)
@ m T n & FAGH TH] H Head IHAS
aeF e |
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Question Number : 72 Question Id : 40503610927 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

x 1
Let A= L []], xe€ R and A4=[aij}' If

ay = 109, then a,, 18 equal to

5 to0 5.002

Question Number : 72 Question Id : 40503610927 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

] ®

| x 1
HMAT Az[l ”], xeR T4 A'=[a

ij

a2 ay, =109 ¥, i a,, 9N 2 r
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Possible Answers :
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Question Number : 73 Question Id : 40503610928 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The value of

e A . in | isequal to
5] - ’ J

5t05.002

Question Number : 73 Question Id : 40503610928 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

{ )
[Pl g pal ST T

£

5t05.002

Question Number : 74 Question Id : 40503610929 Question Type : SA Display Question Number : Yes
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Correct Marks : 4 Wrong Marks : 0

| A 2
H 1111'! L 1 L"l;‘l'“;:l_ cos L
T () > (8 1

_ 2 l
X X —k
I CDS—CDS—W; =2 " then the value of
7 4 )
kis
5 t0 5.002

Question Number : 74 Question Id : 40503610929 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

{ 2 2
lim! 1 N —
'qfa Sy 13 1 —cos > cos 1

l

x2 12W
F 008—COS—
2 4

}=2"‘ @k w AR
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Question Number : 75 Question Id : 40503610930 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The diameter of the circle, whose centre lies
onthe linex + y=2 inthe first quadrant and
which touches boththe linesx=3andy =2,
15

5t05.002

Question Number : 75 Question Id : 40503610930 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

I, TorE= & 999 =J94919 H W@ x +y=2
T F q S S TSt x=3 991 y=2 F o7
FAA1 T, T AT t

5 to 5.002
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